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Question Number : 1 Question Id : 9286279969 Question Type : MCQ Option Shuffling : Yes Is Question N
Correct Marks : 1 Wrong Marks : 0

A sampling plan in which the total population is divided into groups and simple random
sample of the group is selected is

Cluster sampling
Purposive sampling
Stratified sampling

Systematic sampling
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Options :

TYE Tia=a
92862739121.
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Which of the following is an example of discrete variable ?
Laboratory measurements
Body height

Body temperature

Birthorder
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Question Number : 2 Question Id : 9286279970 Question Type : MCQ Option Shuffling : Yes Is Question N
Correct Marks : 1 Wrong Marks : 0
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If n is odd, the median of this data set can be calculated by

b=
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n+ 1

92862739131.
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A bag contains one red, one yellow and one blue ball of same size. What is the probakb
of taking out a red ball from the bag ?

172
1/3

1/4

U Aol § GHIT AR Al T AT, T Al A T ATl A28 | 39 AT T
AT T2 T i TaHar =1 g ?

1/2

113
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1/4

92862739136.

The most frequently occurring value of a data set is called the
Range

Mode
Median

Mean

et 2T ag T | 991 9® arearedr &7 q19 wgd ™ g, T
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92862739138.

qTieg=ht

HIET

The standard deviation of a sample of 100 observations is 64. The variance of the sam
is

10

6,400

4,096
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100 AT & T Fiazel 1 A A=9a7 64 T | 30 Tiagel FT T9707 2T

10

6,400

4,096

For a chi-squared random variable with 21 degrees of freedom and a significance level
0.05, the value from the tables is 32.6705. Which of the following calculated chi-square
values would lead us to reject the null hypothesis in a test of association between two

variables ?

23.45

16.87
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92862739147. =126

31.09

U FTC-AIohd ATG=gs I el TATasA-FTe 21 TAT ATHHAT T 0.
2, ST o T AT |19 32,6705 2 | /= 7w aftwmad § 9T #re-asiie
qTAT | | &7 90 % o119 G1g=a4 900 & o6 919 & forg g9 memsotT

TTehea T T A= THd FTaFHA 2 ?

23.45

16.87

41.56

31.09
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Which one of the following is a qualitative random variable ?
Height of the mountain
Highest educational qualification of students
Distance in meters travelled by a car

Nicotine content of the cigarette

affad & | F19-97 TF [0 T30 47 ¢ 2
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[GRRCEREEAECET R IET

92862739152.

A researcher wants to determine if there is a relationship between being underweight =
having anaemia. The researcher samples a group of 200 individuals and records their

weight (in kg) and finds out whether they have anaemia (low Hb) or not. The appropria
statistical procedure is

Z-test
T-test

Chi-square test

ANOVA
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ANOVA

Which one of the following statements is noftrue regarding the normal distribution cury

It is symmetrical.
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It is bell-shaped.
92862739158.

lts mean, median, mode are located at the same point.

It is positively skewed.
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Type |l error occurs when we
do not reject a false null hypothesis
reject a false null hypothesis
reject a true null hypothesis

do not reject a true null hypothesis

=T || e 9o 2l g & g/
o Aereeoitr afeheusT 7 981 T3 d 2
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92862739164.

If a sample size was 20 on a chi-square test, then the number of degrees of freedom tc
used in calculation would be

19

21

20

AT -1 T § TTager SrHTT 20 2T, a1 aieawhad § off S aret

19

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

92862739166.

22

18

A researcher has collected the following sample data : 6, 7, 5, 12, 5.

The meanis
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et oftersat 9 W=t & 6, 7, 5, 12, 5 Afwet & =7 § 917 70 2 | Z7=0
HqIET 2T

The value that has half of the observations above it and half the observations below it |
called

Range

Median

Maan
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92862739176. Mada
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A type of observational study that analyzes data from a population or a representative
subset, at a specific point intime is

Cohort study
il
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Cross-sectional study
92862739178,

Correlational study

Case study

T LT HT 98 T2 forad BT a9 f@ory o7 & a9ie som
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Question Number : 16 Question Id : 9286279984 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

A substance or a treatment with no active therapeutic effect is a
Supplement

Fake treatment
Placebo

None of these

UHT T2 AT 37T, e #ire |/ =Eeasdg 9a 7 21, #igarar g
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TITH AT T

92862739184.

Measurement of all individuals affected by the disease at a particular time is

Incidence

Magnitude
Severity

Prevalence

et 7 =9 O T 7 TATET F9T 2RA1 1 /109 Fgarar g

T
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92862739186.

When the frequencies are expressed as cumulative percentage of N on the vertical axi
the graphic representation is known as

Frequency polygon
Ogive
Histogram

Pie diagram
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A measure of the distance in standard deviation of a sample from the mean is
Specificity

Probability

Z-ScCore
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92862739196. Feali
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The probability of detecting as “statistically significant” a postulated level of effect is ca

Limit of accuracy
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92862730105, comfidence level

Level of significance

Power

et AT & AT w07 & “HIeTHg =9 § ar4®” % 917 0% §Gga9T 2
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The Sample Registration System (SRS) provides adequate information on

Prevalence of diseases
Nutrition data
Birth and death rates

Reproductive health

wia=er gsiiaeor gurrett (SRS) faforfaa & & e g9 § g9+7 3uase
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A o e T
92862739204

For a group of 125 subjects, the 40" percentile will be which of the following value (pla
after arranging in ascending order ?

100
90
50

40

125 =I=R21 % HHE T AT (F8d gU) FH | @ =+ 915 Hateiad | 9
359 ST (STT) 7 9T 40" 2T ?

—

D
D
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S0

40

Which of the following are not a feature of case-control design ?

Cost-effective
Requires a comparison group
Proceeds from effect to cause

Requires follow-up of subjects

> 2 0 T p

Subjects are randomly allocated to the groups so as to increase their
chances of being similar to begin with

Choose the correct option :

a, b
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92862739210.
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a b
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b, c

92862739210.

c,d

d, e

In a slum area, the prevalence of anemia is high among infants. The Hb level of wome
measured in an antenatal clinic and their follow-up is done till birth to note the birth wei
of infants. Thisis a

Retrospective study
Cross-sectional study
Experimental study

Prospective study
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Question Number : 24 Question Id : 9286279992 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

U T oo |, foreet § uAHAr srertas =y g | Ay w5
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Match the items in set A to items in set B.

A
a. Randomized controlled trial I
b. Open trial i.
C. Cross-over trial iii.
d. Field trial V.
e. Prophylactic trial V.

Choose the best option :

a—ii; b=v; cHii; d—i; e-iv

a—iii; b—i; c-v; d-ii; e-iv

a—iii; b-iv; c—ii; d-v; e—

A diet modified to reduce the risk of
hypertension

A situation where half of the subjects
were given drug A followed by drug B
and other half drug B followed by drug
A

Subjects allocated to the placebo and
drug group

A trial where no blinding is done

Vaccine trial done in the community
instead of clinic
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a—iv; bii; c—i; d-=v; el
92862739220.
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a—ii; b—-v; c—ii; d-i; e—iv
92862739217.
a—ii; b—; c—v; d—i; e-lv

a—iii; b—iv; c—i; d—v; e—i

a—iv; b—lii; c—; d-v; e-i

A test is considered reliable when

It is able to measure what it is supposed to measure
It is able to correctly predict the presence of disease
It gives correct results all the time

It is able to give same reading when repeated in same condition
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Question Number : 26 Question Id : 9286279994 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

TR THT FEaa= g 9T ST g, S

TETET ST HIOT ST 2 39 HI9H AT a1 2

TR it FR=E AT #1980 /7T F QAT A" TRT grar g

g g¥ AT Hgl Uiumd IqT1 g

THTE Teatd |/ g0 519 9% FH19 (Fg1) TS 39 TR graT 2
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Which of the following are examples of ordinal scale ?

Stages of cancer
Gender

Grades of malnutrition
Degree of pain

Parity

> 2 0 T p

Choose the correct option :

c,d e

a, b e
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FaferiaT # 7 F19-9 FHT=F ATaT § IS 5 2

a. FO7fr gavmd
b. =¥

c. o £ afort

d. =& HEAT

e. THEAV/ATEIAT

T e T -
a, c,d
b, c,d
c,d, e

a, b, e
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Correct Marks : 1 Wrong Marks : 0

Which of the following calculates the Human Development Index (HDI) for all countries

NFHS
UNDP
UNICEF

WHO

teteriaa 5 @ Fiq-ar a4 397 & o0 q@a == g=6i® (HDI) & 7]
FATE ?

NFHS

UNDP

UNICEF
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WHO

92862739232.

Match the items in set A to items in set B.

A B
a. Sensitivity i. Ability to give correct diagnosis for preser
of disease
b. Specificity ii. Ability to correctly exclude the disease
c. Positive predictivity iii. Ability to give positive result in the cases

with the disease

d. Negative predictivity iv. Ability to give negative result in the cases
without the disease

Choose the best option :

a—iii; b—iv; c—i; d—ii

a—ii; b—ii; c—iv; d—i

a—iv; b—ii; c—i; diii

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

a—i: b—iii; c—ii; d—iv

92862739236.
A A FT Fiaw BH ez
A B

a. gITIEAr . TO7 T AT i agt e
3 &t AT

b. f&farear i, TIT AT TG = T Tigehd Hieed af
ARAAT

c. HEIIHS [T iii. T % HIH | TRTreq= g
< T TEIAT

d. TEETHT A iv. a9 T T07 AT ATHAT H TR
0T =S4 T AT

qel fahed I :

a—iii; b—iv; c—i; d—li
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a—ii; b—iii; c—iv; d—i
92862739234

a—iv; b—ii; c—i; d-ii

a—i; b—ii; c—ii; d—iv

World Health Reports (WHR) published by WHO is a very useful resource for getting
international data on which of the following ?

Fertility rate
Disability-adjusted life years
Gender ratio

Life expectancy

> & 0 T W

Causes of death distribution

Choose the correct option :

a,b,c
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b, c, d
92862739238.

c,de

b,d e

2T TaTesT J9T3A g TEIerg e ey e (WHR) Fafoataa 5 2
ored FaTaa SFaig T Aime TTH T3 & (0 JcAd STAR(T AHTEA g ?

St T
e 2 % 0

|l fahed I

@ o O T O
q

a b c
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b, c,d

92862739238.

c,d, e

b,d e

The methodology generally used for descriptive studies is
Survey

Observational

Experimental

Pilot study
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e

TeTOT

T

AR eaa

A cohort study cannot be a

Study with control

Descriptive study

Prospective study
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Longitudinal study
92862739248.

THHE (Flgie) deqae Mafatad § T wra-ar agitar aqar ?

EEEMEIEIE P L

TATHS AT

AT T/TATET TLTqTT

A FAeTIH

In a study, infants from different categories of birth weight were selected and the
researchers went back to the records to find the Hb levels of their mothers during ante
period. This is a
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Retrospective study
92862739249.
Prospective study

Cross-sectional study

Case-control study

T AT | AT AT o SH % T80T FHF T1E J7l T80 &
ST AT Tl o THATA AATY o G100 ATare & Hb TI<T &7 7

R o o

. . ; B, VR
oo g et wrzar 1 a2 2
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T Fed T AT

92862739252.

Which of the following are continuous variables ?

a. Blood cholesterol level
b, Gender

c. Hblevels

d. Family size

e.

Blood pressure

Choose the correct options :

b, c, d

c,de

abc
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Question Number : 34 Question Id : 92862710002 Question Type : MCQ Option Shuffling : Yes Is Questior
Correct Marks : 1 Wrong Marks : 0

FoffEaT ¥ T FA-F Fqa =372 ?

TF H AIea o Fil &7
y l+u e
Hb &<

TRATE T AR
TThET

qel fahed I :

® o 0 T ®

b,c,d

c,d, e
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a,b,c
92862739256.

In a study among AIDS patients, the years of survival for 8 casesis: 2,2, 3, 3,4, 5, 7,
The median duration of survival is

3.0
3.9
40

45

TS AR § 0 T degaT ®§ AR A gaesifaar #9u g 2, 2, 3,
5, 7, 10. ITTSHITAAT T ATTETHT AT

3.0
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92862739258.

4.0

4.5

The square root of is called the standard deviation.

Mean
Median
Variance

Mode

F1 AIHA ATHH (ATAT FZATar 2 |
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Options :

92862739261.

qrfeg=T

A scatter diagram shows

trend over time

frequency of occurrence of event
relationship between two variables

data on pie chart
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Question Number : 37 Question Id : 92862710005 Question Type : MCQ Option Shuffling : Yes Is Questior
Correct Marks : 1 Wrong Marks : 0

TEIOT AT =9AT 2

THT F AR I

e % Hied gid i AT

T I 6 91 999

TS ATE U7 e

If 80 values are arranged in ascending order, the middle value is

Mode

Median
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th
40" value
92862739271.

40" percentile

72 80 HIAT Fl A2d T FH § =TT a1 STaT 8, a7 727 /19 g0

EEED
qTTET=hT
4091 919

40T IT9THF

If mean, median, mode are 18, 22 and 30 respectively, the distribution is
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symmetric
92862739273.

left skewed

bell-shaped

right skewed

7= AqTER, ATEAHT AT Tgash HAM: 18, 22 T 30 g, 7 F&d ZRM

aqET

=0 A
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Question Number : 40 Question Id : 92862710008 Question Type : MCQ Option Shuffling : Yes Is Questior
Correct Marks : 1 Wrong Marks : 0

If cholesterol level in a healthy woman has mean 120 g/dl and SD of 10 g/dl, what is th
Z-score for a woman with cholesterol level 220 g/dl ?

100
1.0
9.0

10.0

Ifs TF =T AigaT § Flaeeid &#a< 71T 120 g/dl A A= A== 10
T, A1 220 g/d| FIAEZIA FqT ATAT HigAT FT Z-3F FIT ZHIT ?

100

1.0

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

92862739279.

10.0

An odds ratio = 1 indicates that the association between the factors

is perfect
is high
is low

does not exist

Aos AT = 1 900491 g & [uEaEst & i ag=d
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T ]

92862739281.

S
e g

A Agi

If incidence of a disease among the exposed population is 15 per 1000 and among the
unexposed is 2 per 1000, the relative risk is

0.133
2.5
7.9

10.0
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Question Number : 42 Question Id : 92862710010 Question Type : MCQ Option Shuffling : Yes Is Questior
Correct Marks : 1 Wrong Marks : 0

Tehe THTY H TRT &7 A1 15 919 1000 =<k g AT d9He q9i8 § 2 9T
g g, 99 AU Fa<r g

0.133

2.5

7.5

10.0

A Type | error is

Accepting a null hypothesis

Accepting a null hypothesis when false
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Rejecting a null hypothesis
92862739291.

Rejecting a null hypothesis when true

ER NG

B EUID IR IR R EARE R

FET g 97 Arenoft afseadr T ST Fa1

Aol 9fEeaq T i A= =TT AT

T g 9T HTHToi T Iiarea T &l AFTHT FTAT

The probability of Type Il error is called
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Alpha
92862739293.

Beta

p-value

Power

arza Il e Ft aria=war g

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Question Number : 45 Question Id : 92862710013 Question Type : MCQ Option Shuffling : Yes Is Questior
Correct Marks : 1 Wrong Marks : 0

Given below are two statements :

Statement (A) : The correlation coefficient between variables x and y in a study is foun:
be 1.2. This shows very strong correlation.

Statement (B) : Correlation measures the form of relationship.

Choose the correct option :
Both statements (A) and (B) are correct
Both statements (A) and (B) are incorrect
Statement (A) is correct, (B) is incorrect

Statement (A) is incorrect, (B) is correct
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T IrFaa Ruwmg .

FAT (A) : TF FLAIT H F20 x AT y F S TZHG U0 1.2 T 74T |
U 3T HEHad F9MAT g |

FI9 (B) : AgHEH HIT Ha& & &7 &l 19T 2 |
T2 e T

FA9 (A) AT (B) TE1 A2l 2

FA9 (A) % (B) T T2

T (A) W T, (B) T §

T (A) Tq g, (B) W T
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Given below are two statements :
Statement (A) : The Standard Error (SE) measures the inter-sample variability of the rr

Statement (B) : Standard Error of sample mean can be estimated by the formulae S/./;
where S is the standard deviation and n is the number of subjects actually studied.

Choose the correct option :
Both statements (A) and (B) are correct
Both statements (A) and (B) are incorrect
Statement (A) is correct, (B) is incorrect

Statement (A) is incorrect, (B) is correct
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T IrFaa Ruwmg .
FAT (A) : AF Ae (SE) ATeT F afa: qfa=et afvaaaefiaar F1 qraat g

FAT (B) : TA29er ATeA ¥ AT Ffe SVn AT ATHTAT 1 o1 Tl 8, 5
S | A= AT n areqd J Aeqg+ &0 0 srinai/fAuat it 991 g

Tl e I

FA9 (A) AT (B) TE1 A2l 2
FAT (A) < (B) =T T 2
FA9 (A) FEl €, (B) Toa €

T (A) Tq g, (B) W T
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The test used to measure significant difference between mean of more than two
experimental groups is

Paired t-test

Chi-square test

ANOVA

t-test

2T AT TANTHT Tl 6 o (9 AT4F FdT Rl qT9 & [0 ST e
I gl g, 98 ©
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T

92862739307.

t-o¥reror

A test that measures the degree of dependence of one variable (dependent) on the ott
(independent) is called

ANOVA

Chi-square test
Regression analysis

Paired t-test

U =7 (TTA) UT EY (FFEA) A A 9T ar it /AT i A10T ATAT T
- AT E
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Options :

92862739309.

For normal curve, the area between one SD from mean is what percent

20
68
95

89.7
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Question Number : 49 Question Id : 92862710017 Question Type : MCQ Option Shuffling : Yes Is Questior
Correct Marks : 1 Wrong Marks : 0

TOTHTT =5 % (10 T ¥ TF AT% [a=9a7 & S19 57 SAFA ohd" TS

FARLEC LI FAUN

S0

68

95

99.7
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Which of the following is an example of nominal scale ?

a. Malnutrition grades
b. Blood group

C. Religion

d. Gender

e.

Stages of cancer

Choose the correct option :

c,d e

a,b,d
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et # & FI9-A7 TIHT AT HT IS8T g ?

FITIOT A0t
T TE ()
T

SeT
FOT A ATEATT

2t Free T

® o 0 T ®

b, c, d

c,d, e

a, b, d
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SECTION B FOOD & NUTRITIONAL SCIENCE

Section Id : 928627185
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50

Section Marks : 50

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 028627447
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 92862710019 Question Type : MCQ Option Shuffling : Yes Is Questior
Correct Marks : 1 Wrong Marks : 0

RDA of thiamine (ICMR 2010) for a moderately active man is

1.2 mg/day

1.4 mg/day

1.5 mg/day

1.7 mg/day
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Correct Marks : 1 Wrong Marks : 0
T Fes ateraar # =1t F oo g = 1 RDA (ICMR 2010 & & F
e

1.2 mg/faT
1.4 mg/f3a
1.5 mg/f3a

1.7 mg/f3=

Phytoestrogen is a compound present in

Garlic

Tomato
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92862739327. Braccel!

Soyabean

FIAZTUEE TS A9 G100 OTAT ST 2

T |
AT H
STRiAT H

S i
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Following are the factors that inhibit iron absorption in the body :

a. Low gastric acidity
b. Abscorbic acids

C. Animal proteins

d. Phytic acid

e. Tanins

Choose the correct option :

a,dand e

a, bandd

a, cande

a, bandc
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e & & F19-8 FT06 G20 § @08 F A0 FT [Fog Fa g ?

a. HATHIIT Fl FT F&AAT
b. UsHRmITd® AFAT

c. T UTE

d. HrEfes o

e. cofad

a1 faweT AT
a,dige

a,buad

a,cUde

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Breast milk is a complete food for infants up to 6 months of age.
Reason (R) : Complementary feeding should be started around 4 months of age.

Choose the correct option :
(A) Is correct, but (R) is false
(A) is false, but (R) is correct
Both (A) and (R) are correct

Both (A) and (R) are false

FAT (A) : 6 AT T T A % farersit & form =91 7 g2 v 7of o |

FIOT (R) : ST ATZTT AT 4 AT il AT & 9[F 2l ST AT |
a2 fAaFer Ffa
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Options :

(A) T g, @i (R) T4

92862739333.

(A) TTeTq g, @i (R) 92T 8
(A) &7 (R) =TT 5T ©

(A) 3 (R) 3T o &

Put the following foods in increasing order according to their glycemic index per 100 g

Carrots
Skim milk
Lentil

oW

Orange

Corn chips

=[®[=]°

Sugar

Choose the correct option :
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92862739337.

d b,e,a,cf

d b fc e a

a,cb,derf

e, f,dc b a

www.FirstRanker.com
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= =30 T JTEr =TT F7 AT 100 g IHF TS A TS S & a@d FF |
forfaao -

ATSTT

qATS IA7T 34
At

Fid =
TT

ql e i

G o

=[e[=]°

d b,e a,c,f

d b,fc e a

a,cb,def
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e, f,d c b, a

92862739340.

Requirement for iron and dietary folate for a pregnant woman in the 2™ trimester is
respectively

30 mg/d and 300 microgram/day
32 mg/d and 250 microgram/day
35 mg/d and 500 microgram/day

38 mg/d and 400 microgram/day

THAAT HigaT & TA° BT § g AT AT Tide 5t Ara9Tq qT47 gla
FHT:
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30 mg wafa® a 300 ATEHRMTT gfataT

92862739341.

32 mg T e 7= 250 ATEHUTH Tiafad
35 mg WA= a4 500 HTEHRTT qiaiad

38 mg TAT=d Ta 400 ATZHRMTH Tafad

Which of the following food delivery system is used for hospital inpatients ?
Commissary system

Buffet
Scrambled method

Centralized system
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Question Number : 57 Question Id : 92862710025 Question Type : MCQ Option Shuffling : Yes Is Questior
Correct Marks : 1 Wrong Marks : 0

et Ted | o FIT-HT AZTE T&TT T T 0T STANT ATTqrTd § |
ferT, fehar STrm g 2

IEEIG-C R ML

T TUTTAT

Fiegd TOTTAT
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Which of the following micro-organisms cause foodborne intoxication ?

Bacillus cereus
E. cali
Clostridium botulinum

Listeria monocytogenes

> 2 0 T p

Salmonella

Choose the correct option :

aandb

aandc

candd

aande
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et 7 7 F19-9 geAstta Agre Areria FEu=war 7 F10r 2 g ?

a. At #ive

b. . &l

c. FAMEgeTH Fgfarma
d. e aEmEae
e. HATHAAT

a1 faweT AT
aUdb
aldc
cT4 d

alTde
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Correct Marks : 1 Wrong Marks : 0

Match the following biochemical tests in List 1 to the disease in List 2 :

List 1 (Biochemical test) List 2 (Disease)
a. Creatinine i.  Liver
b.  Bilirubin ii. Heart
c. Tal4 ii. Kidney
d LDL iv. Thyroid

v. Pancreas

Choose the correct option :

a—ii, b—iii, c—v, d-v

a—iii, b-i, c-iv, d-li

a—iv, b-v, c—ii, d-i

a—ii, b-iii, c=v, d-iv
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=T 1 H B30 a0 SE-wmrEiEs oo w1 Faw g5 2 § {fuan A
FToT -

Eﬁryﬁ = AT 2 (T)
a. frufea i, T
b. fafa=fa= i. I
c. T3Ta iii. T

LDL iv. IETIE

w2t A gfAT
a—ii, b—iii, c—iv, d-v
a—iii, b—, c—iv, d—ii

a—iv, b—v, c—ii, d—i
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a—il, b, c—=v, d-iv
92862739356.

Normal BMI for Asian adults as suggested by WHO is
18.5 - 22.9 kg/m”
19.5 - 24 9 kg/m”
20.5- 25.9 kg/m”

21.5-26.9 kg/m”

WHO T Ui9RITs a3l & forg seartad sam= =T BMI 2
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18.5 - 22.9 kg/m®

92862739357.

19.5 - 24.9 kg/m®
205 - 259 kg/m”

215 -26.9 kg/m”

Which of the following are nof deficiency diseases ?

Xerophthalmia
Dyslipidemia
Goitre

Osteomalacia

> 2 0 T p

Anorexia nervosa

Choose the correct option :
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92862739361.

e § 7 F19-7 Aqras=7 T qgl e ?

a. SeredfeaT

b. fEfresi

e LE 1 EAS

d.  ATETHATET

e. TARHTAT AT
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92862739361.

Assertion (A) : Micro kjeldahl method is used for analysis of proteins.
Reason (R) : Percentage of sulphur is measured to calculate protein content.

Choose the correct option :

Both (A) and (R) are true
Both (A) and (R) are false

(A) is true, (R) is false

www.FirstRanker.com
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(A) is false, (R) is true
92862739368,

FA9 (A) : TTET % =Zeor % o qresht Seetger At w1 s e «
=4

10T (R) : WA i1 AT % aiahad & forg & & giqera &1 /o &
SET 2 |

Tt e AT -
(A) T (R) et wE &
(A) T (R) FTeIT e &
(A) T E, (R) T &

(A) Tad 2, (R)HEl &
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Question Number : 63 Question Id : 92862710031 Question Type : MCQ Option Shuffling : Yes Is Questior
Correct Marks : 1 Wrong Marks : 0

Give the sequential progression of symptoms from hepatitis to cirrhosis.

Increased bilirubin

Abdominal tenderness and jaundice
Nausea, anorexia, vomiting
Oesophageal varices

Oedema and ascites

"~ o o0 T

Portal hypertension

Choose the correct option :

b,cd a e f

b,adfce

a,cfdbe

c,b,afde
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Question Number : 63 Question Id : 92862710031 Question Type : MCQ Option Shuffling : Yes Is Questior
Correct Marks : 1 Wrong Marks : 0

THAITT T AN (FATZTET) T 9 Jig = o iad T Fil e
FOTT

CIPGREIREIED]

AT, @ 7 AT, Ieel
IEEAR I

9T TF UEATEeR
IGELREIRSE RS a1

Tt faseT AT

-0 Q0 T D

b, c,d aef

b,a,d, f c e

a, c fdb,e
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c,b,a f d e

92862739372.

Match the nutritional assessment methods in List 1 with tools used for measurement in
List 2 :

List 1 (Nutritional A t
ist 1 (Nutritional Assessmen List 2 (Tools)

Method)
a. Dietary survey i Hb
b. Anthropometry ii. Bitot spot
e Biochemical Test ii. FFQ
d. Clinical Test iv. ~Bomb calorimeter
v. MUAC
vi. HPLC

Choose the correct option :

a—iil, b=vi, c—v, d—i

a—iv, b-iii, c—i, d-=vi
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a—vi, b—iv, c-v, d-ii
92862739375.

a—iii, b=v, c~i, d-ii

AT 1 | & T2 GrI0TeHF T AR At w1 mer g4 2 § Ruag
IO TS 3 AT o

TAT 1 (T AThard f&Afd)  Jq=T 2 (J79 #ee)

a. HATETE TAA I. Hb

b. TFATIMHIELT i. faeie voie

c. WA-TATHHE L&A i. FFQ

d. T=fecrhrT oiern iv. FTET FATHIET
v. MUAC
vi. HPLC

Tt fashen FfHT
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a—iil, b—vi, c—iv, d—i
92862739373

a—iv, b—ii, c—1, d—vi
a—vi, b—iv, c—v, d-ii

a—lii, b—v, c—i, di

HDL is synthesized and secreted from the

Pancreas
Liver

Kidneys

Muscles
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Question Number : 65 Question Id : 92862710033 Question Type : MCQ Option Shuffling : Yes Is Questior
Correct Marks : 1 Wrong Marks : 0

HDL #&fuq i< #rfaa gar g

AIITIT T
TT |
THT T

aforT &

Which food service system produces food at a central unit and distributes processed fc
to other small units ?

Conventional

Assembily line
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Commissary
92862739383.

Cook and chill

eforaa e |4t gortora § & & @rer 9879 UF Feald UHE | ™
2T T 9% 7 a2t I 0T a1 92T 37T Gl THa1 § Adid gar g ?

PIECIEET
FETTAT ATSA

EAE LR

T UuE =
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Assertion (A) : Large food service institutions use formal competitive bid buying.
Reason (R) : Here the purchaser goes to the wholesale market and bids the price.

Choose the correct option :

Both (A) and (R) are true
Both (A) and (R) are false
(A) is true and (R) is false

(A) is false and (R) is true

FAT (A) : T AT TAT HEAT AT= T AT ATAT T ITANT F
ST 2 ¢ |

F0T (R) : TAH TIETE qTF TTehe § SATAT g AL FIAT o Jraar g |
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Options :
(A) 3T (R) 19T 9T §
92862739385.
(A) #iT (R) FHT T ¢

(A) Tl g &7 (R) 919 g

(A) T g 3T (R) Tl €

Arrange the foods in the right sequence in decreasing order of protein content.

Bread
Cheese
Butter
Boiled egg

a0 T o

Choose the correct option :

ab,cd

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

b,cd, a
92862739390.

c,ab,d

d b, a,c

1= =30 T FTEr T=TAT T AT AT § ged AT G¥ A q i |

L LS
qFaT
ITAT AT

ql e I

o 0 T oo

a, b, c,d
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b,c,d, a
92862739390.

c,a,b,d

d, b, a,c

Match List | with List Il

List | (Glands) List Il (Hormones)
a. Alpha cells pancreas I. Adrenal corticosteroid
b. Adrenal cortex ii. |Insulin
c: Beta cell pancreas iii. |Prolactin
d. Pituitary iv. [|Glucagon

Choose the correct option :

a—iv, b—, ci, d-iii

a—i_bii_c-iii_d=iv
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a—iv, b-iii, c—i, d-ii

92862739395.

a—il, b, c-il, d-iv

qAT | T e G471 11 F 977 i

www.FirstRanker.com

i SUICIRED! T 1 (@)
a. (AT AT FRT HOAHRT i [ATETF-TTeaefiT =i
b. [ATEEs Ireaen TR EC R
c. [FFATIET FT FHiaT FTIHIT iii. [T
d. [T afer iv. [FeEET

|l fahed I

a—iv, b—1, c—ii, d-ii
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a—i, b—ii, c—ii, d-iv
92862739394,

a—iv, biii, c—, d-i

a—li, b—i, cii, d-iv

Vanaspati is an adulterant in

Malt
Haldi
Butter

Saffron

www.FirstRanker.com
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FAEaTS UF FaEE w2

qree |

goal |
s

FOTH

Which of the following are trans-fatty acid rich foods ?

a. Bakery products
b. Vegetable oils
C. Sweets

d. Desighee

e. Vanaspati

Choose the correct option :
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92862739401.

b, c,d

c,d e

fAaforfeT § T F19-8 @ 7219 219-a97 7T | T97 ¢ 2

a. dF IATS
b. 99 T@
c. TH=r=a1

d.  IFHTHT

e. FIEUA

2t Free T
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b, c,d

Which of the following are major modifiable risk factors in reduction of non-communica
diseases 7

Physical activity
Heredity
Sedentary lifestyle
Smoking

> o 0 T p

Gender

Choose the correct option :
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92862739405.

FEFTHT T o O 18T T T T ST F0F et 3 7 Hia-

?

IRURERIGICIE]

FEAEE]
AT AT SAFA-9TeT

CCRIE]
T

® o 0 T p

HE e i :
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Options :
a, cd
92862739405.
b,d e
a c,e
b, c,d

How much of physical activity is recommended for Indian population to maintain fitness

Atleast 15 minutes of moderate intense physical activity for atleast 5 days ¢

Atleast 30 minutes of moderate intense physical activity for atleast 5 days ¢

Atleast 40 minutes of moderate intense physical activity for atleast 5 days =

Atleast 60 minutes of moderate intense physical activity for atleast 5 days :
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Question Number : 73 Question Id : 92862710041 Question Type : MCQ Option Shuffling : Yes Is Questior
Correct Marks : 1 Wrong Marks : 0

e 9Ty e F o areee Fen i AT o wfataty g
AT ?

T g% H FH-H-FH 5 T390 |, FH-T-FH 15 a2 #r 9209 =14
rafafer

TS g% H FH-H-FH 5 T390 |, FH-H-FH 30 Hae & 4209 12
UICIEIE

= g%d H FH-9-FH 5 397 #, FH-7-57 40 e it 7eq9 914
UIGIELE]

T g0 H FH-H-FH 5 310 |, FH-T-F7 60 972 &t 7209 =14
UIGICIE]
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A diet providing 200 g carbohydrates, 30 g proteins, 15 g fats and 30 ml alcohol provid
kcal.

1115
1265
1355

1525

200 ITH FTalgrese, 30 ATH Aeid, 15 UTH 7497 47 30 fHeft 727 (alcoh
TR FTA ATAT T ATZIT el e 1T T2 Hrar g |

1115

1265

1335
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1525

92862739416.

Dietary Folate Equivalent (DFE unit) is defined as
Mg natural food folate + 1.1 x pg synthetic folic acid
Mg natural food folate + 1.7 x pg synthetic folic acid
Mg synthetic folic acid + 1.1 x pg natural food folate

Mg synthetic folic acid + 1.7 x pg natural food folate

G FlE AT (ST.UF.. TH1e) Fl U TRATOT 691 JTar g |

ug TTHTd ST & Flee + 1.1 x ug FHH Fifers TiHe
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ug ST ST & I + 1.7 x ug FO Fifers e

92862739418.

ug FTT Ffer T + 1.1 x pg ST I & T

ug FI Fers IR + 1.7 x pg TTHETE Is & 5o

Which certification mark would you look for to ensure good quality of food ?

FPO
MPO
GMP

FSSAI
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T ?

e i
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Given is the classification of xerophthalmia by occular signs. Arrange them in correct
sequence as they appear.

Bitot spot
Corneal xerosis
Corneal scar
Night blindness

Conjunctival xerosis

"0 o0 T D

Keratomalacia

Choose the correct option :

a,db,cfe

deab,fc

c,adeb,f

e, dfach
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FAET F AL F AT TT F AT FT TATH201 F7 =7 8 | 39 =
< T dgl FH H @ |

e fig
FIEAT T TEAT
FAAT FT AL
TATeT
FLETHATIAT

Tl e I

~p R e T

a, db,cfe

d e a,bfc

c,a,d e b, f

e, d fa,cb
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Question Number : 78 Question Id : 92862710046 Question Type : MCQ Option Shuffling : Yes Is Questior
Correct Marks : 1 Wrong Marks : 0

Given are HACCP principles. Arrange them in correct order :

Determine critical control points

Establish monitoring procedures
Establish verification procedures
Establish critical limits

Establish corrective actions

Conduct hazard analysis

@ = ® a0 T D

Establish record keeping and documentation procedures

Choose the correct option :

b,dfaegc

degchbfa

f,a,d,b,ec,g

a,fbdcag,e
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Question Number : 78 Question Id : 92862710046 Question Type : MCQ Option Shuffling : Yes Is Questior
Correct Marks : 1 Wrong Marks : 0

TS T HLHL AT, (HACCP) firgia fRm ow £ | 57 &t %9 & =r=feaa iR

frfeaer st gieee faTha w97

ST T T FT T AT

HEATAA =1 TTHAT Fl TATOT HAT
Tieaer ST T =TT AT

TS FTT &l ST FHedT
SUEEEINEE ELETRGI

. TrTe T9T TEaTAS i TRAT T ST wEAT

Tl e I

@ =0 a0 T D

b,d f,a,e g,c

d e g,cb,f a

f,a,d,b,e, c,g
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afbdcqge

92862739432.

Statement A : Fruit juices are nutritionally superior to fresh fruits.
Statement B : High calorie fruits should be restricted for overweight/obese subjects

Choose the correct option :

Statements A and B are correct
Statements A and B are incorrect
Statement A is incorrect and B is correct

Statement A is correct and B is incorrect
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FIT (A) : Tl F TH T FeAl & TTAOTH AZAL A ¢ |

AT (B) : ATEF FATN Ik Tl il ATEH TH/HTETT 7 TTET AN 6 el
EIEEIECRER IS ICIE LT

|l e I

FA9 (A) T9T (B) 92T 2
FA9 (A) T4T (B) ToId 2
FI9 (A) Tad g 997 (B) @21 g

FIT (A) Tgl g 4T (B) Taq g

Orange coloured vegetables contain which of the following substance ?

i}
Hetacarotens
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Lycopene
92862739438,

Betalains

Anthocyanins

eforiad 20T § | F9-97 Sa7 337 Hi Fieedi § I JrE7 2 2
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Statement (A) : Salt intake should be 10 g per day for an adult.
Statement (B) : Preserved and canned foods contain low amounts of salt.

Choose the correct option :

Statements (A) and (B) are correct
Statements (A) and (B) are incorrect
Statement (A) is incorrect and (B) is correct

Statement (A) is correct and (B) is incorrect

FI9 (A) : TF 39 |/ 795 F1 7999 10 T T SATSVATAF T21 AT AT
FA (B) : H3fT A< Tsa197 AT =Tt § THF Al AHAT FHA 2l g |
a1 faweT AT
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FIT (A) TAT (B) T51 2

92862739441.

AT (A) T4T (B) T &
FI9 (A) Tad g 997 (B) @2l 2

FI9 (A) Hgl g 47 (B) T/ad g

Breast milk is associated with better cognitive development possibly due to the high co
of

Saturated fatty acids
Carbohydrates

Protein

Docosahexaenoic Acid (DHA)
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Question Number : 82 Question Id : 92862710050 Question Type : MCQ Option Shuffling : Yes Is Questior
Correct Marks : 1 Wrong Marks : 0

AT TR ATEF FTAT F FHT0T HI HT T dgd< GATCHS (A1 T Tl
e

HIH FAT A+

s’

e
FldliglegcH

BIEiD]

SR ETEFEES Uiae (S1.U9.7)

In the case of energy requirements the allowances are expressed as

Safe allowance
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Average requirement
92862739450.

Reference allowance

Adequate intake

oIl il ATAYTRATHA 6 HEH H S(% JTAT ol TH THTL < (AT TAT

TF AT

TS ATTITHAT

TR JAATS

UfSHE Teeh
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Additional requirement of Indian women during pregnancy has been computed on the |
of pregnancy weight gain of

6 -8 kg
8 — 10 kg
10 -12kg

12 - 14 kg

ATA T HiGAT § THEEAT & ZTH AT AATHRATA T ATHTT T
H fAeferied § & o¢ g a9 = ATETL T @1 9T g

6 — 8 &t

8 — 10 f&err
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10 — 12 faer

92862739455.

12 — 14 faer

Which of the following forms an indigestible component of plant food and is not conside
as source of energy ?

Carbohydrates
Fats

Proteins

Dietary fibre

g =07 § & FF-97 a9e0Td § 979 G 921y g, e a7 a1 o=
HHAT 2 TIT AT 21 I il il SId HIET Ad1 2 2
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Options :
= =
ldlglagcH
92862739457.
T4 T
PIGiD|
I AZT

The daily additional energy requirement of a woman exclusively breast feeding during

first six months would be

600 kcal
550 kcal
400 kcal

350 kcal
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Question Number : 86 Question Id : 92862710054 Question Type : MCQ Option Shuffling : Yes Is Questior
Correct Marks : 1 Wrong Marks : 0

UZA G HE M1 i ZITH TATITH F21 ATAT HIGAT il HoT il ATA T 214
ATTTFHAT F4T ZhAl & ?

600 et Ferret

550 TheaT Herrer

400 et Fearr

350 et Ferret

Total Energy Expenditure (TEE) for an adult can be expressed as

BMR = PAL

BMR = PAL
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92862739467. BMR —PAL

BMR + PAL

UF 9% & (010 Td Soit =207 (TEE) & =7 § == fFar srar g 2
T TH AT, x AT AATa e AT (9.7.7)
T UH.AT. < gt Aiafafd aqar (F.7.0)
T UH_ATT. — AT Aiaia e AT (W.0.0)

T U, + AT TF Aiafafa aqame (3.0.0)

Pulse proteins contain low amounts of which amino acid ?
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Lysine
92862739469.

Isoleucine
Methionine

Leucine

TTAT | ITH 91 H FIF-A7 THIAT TS 77 ATATH granr g ?

AT
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Question Number : 89 Question Id : 92862710057 Question Type : MCQ Option Shuffling : Yes Is Questior
Correct Marks : 1 Wrong Marks : 0

Which of the following are considered essential amino acids ?

Threonine
Valine
Cysteine

Phenylalanine

> 2 0 T p

Tyrosine

Choose the correct option :

a,b,d

b, c,d

c,d e
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e o 7 F19-8 A9 UH i e g ?

@ o O T 0
: g

b,c,d

c,d, e
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A balanced diet should provide % of total calories from fat.

<10
15-20
20-30

> 30

T T g/

15-20
20 - 30

> 30

% FATLT TET ZTLT TS g1 AT |
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Question Number : 91 Question Id : 92862710059 Question Type : MCQ Option Shuffling : Yes Is Questior
Correct Marks : 1 Wrong Marks : 0

Foods high in Polyunsaturated Fatty Acids (PUFA) should contain which of the followin
stabilize PUFA ?

Ergosterol
Tocopherol
Phospholipids

Menaquinone

THTAEdH F97 dF¥A (PUFA) | 999 9T F TitorsAd g 7791 T (PUF
=1 o = % foro fesfortera § | == grar =g 2

= e

e A
LEE] ] L8 LY
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92862739482.

RS IEIEE

AT A

Which of the following food is a rich source of n-3 PUFA ?

Cereals and millets

Green leafy vegetables
Pulses and legumes

Nuts and seeds
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eforfad & | F9-97 @1 9279 n-3 T (PUFA) F 797 2 2
AT AT HIE AATS
T AT FHierat

CERC B E R

|dentify the food with the lowest glycemic index :
Milk (low fat)

Brown rice

Apple

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice )
www.FirstRanker.com

92862739492. Comtiakas

FH TATSHHE FHT AT AISIT =l TZATT 1o

T (FF FET T

L IEE]

GE]

TF & G g0 I (FIwI)

A lactating woman (0 — 6 months) requires

+ 23

www.FirstRanker.com

additional protein in her diet.
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-+
92862739494. L

+ 25

+ 15

s T HTT ATAT Figar (0 — 6 HIg) T AEE &

TTET =l ATTITHAT Bl 2 |

+ 23
+ 19
+ 25

+ 15
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With regards to waist circumference, which of the following measures is associated wit
increased risk of chronic diseases among Indians ?

95 cm for men; 85 cm for women
90 cm for men; 80 cm for women
85 cm for men; 80 cm for women

95 cm for men; 80 cm for women

ATl § F92 H oty F d@29 ¥ et § F -t qm e
F AR U EAL H HA(AT ¢ ?

05 &t it 3 form; 85 ey wfgest ¥ form

00 &t it 3 form; 80 ey wfgeTs ¥ form
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85 &t it 3 for; 80 ey wfgest ¥ form

92862739499.

95 #eft it ¥ form: 80 #reft Wit ¥ form

As per ICMR (2010) recommendations, every adult must consume daily at least
350 g of GLV and other vegetables
300 g of GLV and other vegetables
250 g of GLV and other vegetables

200 g of GLV and other vegetables

e HT.OH A, (2010) ¥ FwaTiad 3 JT31 & d9gd Toa® aa% &l 9I1d
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Options :
350 T Z4T T=1T TIT AT Aot A1
92862739501.
300 ITH ZET T AT AT ATow |
250 ITH ZET TS AT AT ATow 1
200 ITH ZET TSI TAT AT ATew gt

Calcium : Phosphorous (Ca : P) ratio in the diet of adults should be maintained at

1= 2

1:2:0
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Question Number : 97 Question Id : 92862710065 Question Type : MCQ Option Shuffling : Yes Is Questior
Correct Marks : 1 Wrong Marks : 0

TTEHT & AR F H{oTTH : FIERZH (Ca : P) T ATITT =T =147 7
Tt ?

1:1
1:1.5
122
1:2.5

Cereals other than wheat cannot form a large light loaf since the following is not
developed :

Phytate
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Amylase
92862739510.

Sulphate

Gluten

g o STATAT AT STATST Ueh goahl LIal Ag!| a1 Tehcl FA[1eh (o 12

TTEee
THIE AT

e
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Question Number : 99 Question Id : 92862710067 Question Type : MCQ Option Shuffling : Yes Is Questior
Correct Marks : 1 Wrong Marks : 0

Apples are subjected to blanching before freezing in order to
Prevent whitening of slices
Prevent excess ripening
Prevent enzymatic browning

Reduce softening and spoilage

Ao 7 BHHT 9 | g sai= 41 (A1 Sar g 2

Tl T T3 g F 9= & oo

AT T O F=919 & [0
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THATSHICH FTS AT I T3 & [

92862739515.

THT 9T GTET F FH F2A 6 (T

Starch grain when heated with water absorbs water, swells and becomes viscous. The
changes are described as

Dextrinization
Gelatinization

Retrogradation

Syneresis
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FETAT AATST ST OTHT 6 A1 IH 677 Srav g, a1 Iret Fir AF900aT Fidah
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